1.

Adda

Haryana Govt. has decided to celebrate

the year 2023 as
(A) Antyodaya Utthan varsh
(B) Antyodaya Arogya Varsh
(C) Antyodaya Aahar Varsh
(D) Antyodaya Akshar Varsh

(E) Not attempted

color road markings are used
for all carriageway markings except for
parking restrictions.
(A) Red
(C) White
(E) Not attempted

(B) Yellow
(D) Blue @ﬁ
A

With reference to the AMRUT Mission
(Atal Mission for Rejuvenation and Urban
Transformation), consider the following

statements :
1. It comes under the Ministry of Jal

Shakti.
2. It'sone of purpose is to ensure that every

household has access to a tap with the
assured supply of water and a sewerage

connection.
Which of the statements given above
is/are correct ?
(A) 1 only
(B) Neither 1 nor 2
(C) Both 1 and 2
(D) 2 only
(E) Not attempted

Under the G20 Presidency of India, the
1%! Environment and Climate Sustainability
Working Group (ECSWG) Meeting was
held at

(A) Chennai

(C) Mysuru

(E) Not attempted

(B) Bengaluru
(D) None of the above
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5. Which of the following is not a basic
counselling skill ?
(A) Empathy
(B) Paraphrasing
(C) Sympathy
(D)
(E) Not attempted

Building a connect

6. The present day Haryana came under the
control of East India Company of Britain in

(A) 1756 (B) 1858
(C) 1857 (D) 1803
(E) Not attempted

7. Following are some of the causes of
delayed motor development except

(A) Poor physical health

(B) Positive environment

(C) Improper growth conditions
(D) Inadequate nutrition

(E) Not attempted

8. The Genetic Engineering Appraisal
Committee comes under the

(A) Ministry of Commerce

(B) Ministry of Agriculture

(C) Ministry of Environment, Forest and
Climate Change

2
ord)

(D) None of the above
(E) Not attempted

9. Famous Urdu poet Altaaf Hussein Haali

was born in
(A) Sonipat (B) Panipat
(C) Rohtak (D) Ambala

(E) Not attempted
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5. P & S-an afad T B
TR ?
(A) TEfa
(B) WTETIETE
(C) TEfa

(D) TH T M
(E) 3ruaTtéa

6. adaH i frea % $w2 $fem o &
frrsor o e T o7 7

LK) 1756 (B) 1858
(C) 1857 pﬁ@ﬁ%sos
(E) el

7. fyaftaa @it o & $8 Fror f=fafae
&, 39T JUETE B
(A) @UE SF ey
_(B) HSHRIcHe Tl
(C) 33faa fapra 1 fufy
(D) ST9Te qIyoy
(E) 3Tw=fera
8. SHfew Sofaiar qeeie afify g
AT Jierta e ® 7
(A) TTfTSY TaTe

(8) FIY e
(C) waterwr, &7 3N Sieamy wiads
HATSH

(D) IWe § § 13 T
(E) 3rvamtya

9. Wiig 3¢ B srears g el H o
TET g3 o

(A) Gifgg (8) grfga
(C) Ugdae (D) ST
(E) Ivanfed
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11.

12.

13.

14.

_AB) Schema

SC - Tog
Chaudhary Charan Singh Haryana 10. <hud) = fag Bhamm iy faafammer
Agricultural University is popularly RICIRD]
known as =) N SERSELERLE L
(A) HMU (B) HEU mg A L (B) T3,
(C) HAU (D) HOU (C) TETY, (D) TE.31.7,
(E) Not attempted (E) 3roRfdd
Pradhan Mantri Sukanya Samriddhi 11, wuEE gE ggte A T I
Yojana was launched in TS |
(A) 2014 (B) 2017 &) 2014 (B) 2017
(C) 2015 (D) 2019 \((p) 2015 (D) 2019
(E) Not attempted (E) TSR

The teacher can ensure support to the
student in the following ways except

(A) Building rapport
(B) Encourage unmasked expression of
emotions

(C) Being judgemental
(D) Ensuring confidentiality
(E) Not attempted

Which of the following organisms referred
to as the farmer’s ‘friend’ ?

(B) Termites
(D) Ants

(A) Earthworm
(C) Fishes
(E) Not attempted

[=];x (2]

The process of integrating new perceptual,
motororconceptualmaterialorexperiences
into existing schemata is termed as

(A) Accommodation

(C) Assimilation
(D) Equilibration
(E) Not attempted

12. R fre 3 & ford wh aliel & T

B 51 G gRTEd H a8 ?

(A) dTeTH SSHT

(B) Tt B S sfreafEd
PreHTEd T
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(D) ToHeraT gRfEd S

(E) 3TRITTHd

13. frfafiad 3 & fora Sfia =1 fopam =i

fors’ hET M1 B ?

(A HF3T (B) S
(C) wafer (D) wifear
(E) ITSRITéd

14. mumfm,ﬁamaaﬁ@mm

@@@Wmﬁmﬁqﬁ%mz
3T 1 e ST B

(A) TERISH

(B) A

(C) ATeHHTd

.

(D) A
(E) 3rsfed
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15.

16.

17.

18.

19.

All motor vehicles operating in a public
space must be insured against

party risks.

(A) First (B) Null

(C) Third (D) Second =

(E) Not attempted =
DR0)

Which one of the following skill is
not included in the Critical Life Skills
programme ?

(A) Financial literacy
(B) Economic literacy
(C)

(D) Digital literacy
(E) Not attempted

Child care and education

Which of the following country recently
issued its first batch of forest carbon credit
stamps to reduce carbon emissions ?

(A) China

(B) Japan

(C) India

(D) None of the above

(E) Not attempted

Haryana has a total of
sub-divisions at present.
(A) 65 (B) 73
(C) M1 (D) 69
(E) Not attempted

Learners actively construct the meaning
of structures and identify the principles on
their own in

(A) Discovery learning

(B) Logical learning

(C) Competitive learning

(D) Creative learning

(E) Not attempted
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18, sdmAd g A A I9-HESA ¢ |
(A) 65 4B) 73
(C) 71 (D) 69
(E)
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frior e 3 3iv fagrdl 1 TEEH A
F a2 |
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(B) dfehen &M
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(B GATcHS foen
(E) 3TSrRTHd
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20.

21.

22.

23.

24.

This village had the first village secretariat
of Haryana

(A) Haibatpur

E n
(B) Nilokhelji ‘EIE%
(C) Kumhariya

(D) Kunjpara
(E) Not attempted

In this year the campaign of Beti Bachao
Beti Padao was started in Haryana

(A) 2013 (B) 2014
(C) 2015 (D) 2019
(E) Not attempted

The Prestigious Equator Prize is given by

(A) UNDP (United Nations Development
Programme)

(B) FAO (Food and Agriculture
Organization)

(C) WHO (World Health Organization)

(D) None of the above

(E) Not attempted

Mixing dals chana, rajma and sorting is
an example of

(A) Guided play

(B) Dramatic play

(C) Exploratory play

(D) Structured play

(E) Not attempted

In Haryana, Teej festival is celebrated to
(A) welcome the girl child

(B) fly the kite

(C) welcome the rainy season

(D) None of the above

(E) Not attempted
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24.

£C) 2015
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25.

217.

28.

Third battle of Panipat was fought in
(A) 1526 (B) 1761

(C) 1726 (D) 1556

(E) Not attempted

National Initiative for Proficiency in
Reading with Understanding and
Numeracy (NIPUN BHARAT) aims to
achieve universal foundational literacy

and numeracy by the end of Grade 3 by
the year

(A) 2025 —- 26
(B) 2028 - 29
(C) 2027 - 28
(D) 2026 —-27
(E) Not attempted

Forests are included in the Listin

the Seventh Schedule of the Constitution
of India.

(A) Central

(B) Concurrent

(C) State

(D) None of the above
(E) Not attempted

It is a time table of each class and
of sections thereof which shows the
distribution of subjects in each class
along with teachers for each period

oHo

(A) Teacher time table Gﬁa“
(&

(B) Consolidated time table
(C) Vacation time table

(D) Class time table

(E) Not attempted

25.

26.

217.

28.
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(A) 1526 AB) 1761

(C) 1726 (D) 1556

(E) T

g 37 37 F % | e H e

fore g et (P ) 1 3 TR
a9 a% U 3 F i as Gl e
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(A) 2025 — 26

(B) 2028 — 29

(C) 2027 - 28

(D) 2026 — 27

(E) Twamta

i F age ) aradl IgEE § S
£l Tt o e fofan T @
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(C) T

(D) ST § | FIE &I
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(A) e wwa @ieft

By wfera T wrieft

(C) FaH T Wt
(D) e FH HIieft
(E) 3R EI}E}

0



30.

31.

32.

indicates

(A) Parking lot — scooters and motor cycles
(B) Scooters and motor cycles repairing
(C) Scooters and motor cycles prohibited
(D) None of these

(E) Not attempted

The ‘SaaRthi App’, recently seen in the
news, is related to

(A) Old Age Pension

(B) Child Development

(C) Securities Market

(D) Women Protection

(E) Not attempted

For effective management of disasters, the
Disaster Management Act was passed in

the year

A) 2004
((B)) 2005 '?Q?J
(C) 2006 E@'E
(D) 2007

(E) Not attempted

Plants and photosynthetic bacteria are

also called as

(A) Autotrophs
(B) Chemotrophs
(C) Heterotrophs

(D) None of the above

(E) Not attempted

29.

30.

31.

z9rtar 8

() i T - TgeX 3N A A
(B) TRt 3N A AEfehcdd 7O

(C) TRt 3 Wit A3fRa fuw

(D) 378 & HI3 T

(E)

A @ 3w A T Eeh T
gefd 8

(B (A) gerar 4ed &
ﬁﬁ"‘f{-_‘ii(B) 1 foerra @

() wfegfa sTom &

4D) Tfga gam |

(E) STS=Tiad

FAT9ET & THTE JaeH & fdu HAger g
Affay form a9 gritd T = o 2
(A) 2004

ABY 2005

(€) 2006
(D) 2007

(E) Aw=nfa
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33.

The theory of trial and error which is of 33, fen & &= § wAE A afe # .
) fregrd

ignificance i '
iiriit)s;nded by " the field of Education g HE T@;Tm%éﬂ?mﬂm |
(A) Edward Thorndike i%?% 7y Tgas UHSEH
(8) Albert Bandura " (g) TR IH
(C) Ivan Paviov ey @ CICRIE]
(D) B. F. Skinner D) &t T. T
(E) Not attempted (E) ST
44, InHaryana, Mahila Avam Kishori 34. 3 wfeen wa fermd EF A RIERll
samman Yojana was launched in F 3 T |
(A) 2018 (B) 2021 (A) 2018 (B) 2021
(C) 2020 (D) 2019 (C) 2020 AB) 2019
(E) Not attempted (E)

%5, is a philosophy and method of 35. 4§l fareqon & Th _f«"ﬁ:‘ 3R q;‘g;i%l iﬁmii

teaching languages where a particular Teh
language is taught more wholly in 0 @ Ffie ol ®9 ¥ g ST 2

experiential and social ways and not

taught in parts. A) B

(A) Structured approach @) ©hs 3 e

(B) Speed based approach :

(C) Holistic approach EYE i) W @ﬁ‘“

(D) Whole language approach m@d (D) |yet T gfeeshiu
(E) TTéd

(E) Not attempted
36. MGNREGA 2006 H YRd TR g

3. MGNREGA was launched in this district ]
of Haryana by Govt. of India in 2006 g ¥ 3@ e § 1E T
(A) Sirsa (B) Panipat (A) T XB/) qrftaa
(C) Sonipat (D) Gurugram AC) arfied (D) TEIH
(E) Not attempted (E) AT
37. Hawa Singh won the Asian Games gold 37. &4l ﬁ'%% ﬁ a9 1966 3ﬂ'{ 1970 H SR
medal in consecutive editions inthe TR O ﬁg%ﬁg—d A3 frg ga & o
1966 and 1970 for which of the following uNRIERC IR ot ges S ?
games ? | ¥A) SR (B) ¥efireA
(A) Weight liting ~ (B) Badminton © £m (0) T
(C) Running (D) Boxing €)
(E) Not attempted AT
-9- D
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8. Consider the following statements with
reference to Pradhan Mantri Fasal Bima

OjJana Scheme :

1. It provides a comprehensive insurance
Cover against the failure of all food and
oilseed Crops.

2. It prescribes a premium of 2% to be
paid by farmers for all Kharif crops and
1.5% for all rabi crops.

Which of the statements given above
is/are correct ?

(A) 1 only

(C) Both 1and 2
(E) Not attempted

(B) Neither 1 nor 2
(D) 2 only

39. In this approach, the learner’s intention
is just to complete the task requirements
instead of properly understanding the

content

(A) Deep approach
(B) Surface approach
(C) Abstract approach
(D) Strategic approach
(E) Not attempted

40. Wangari Maathai was a famous
environmentalist of which of the following

countries ?

(A) Kenya

(B) India Ej.g‘
(C) Nepal o (8]

(D) None of the above
(E) Not attempted

41. indicates engine speed in RPM.
y7.9% Trip meter (B) Tachometer
(C) Odometer (D) Speedometer
(E) Not attempted

D
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38. Sy BHS a1 Ao F GEy W
freferfga el w fomm =t .
1. &¥ft @ wd foeted wHat % @ ;
T T gHY o7 et @ |
2. o+t @l woet & fotw 2% 3R @it
waAl % TAY 1.5% w1 fftem
F B feramt = fAfdse st B
37 H Y HH-GT/A FAT I R ?
(A) FT 1 B) A 17§ 2
Ly 13 28R (D) ¥ 2
(E) ITS=mira
39. W gfeewio & e 9re #1 3e fawy
H1 3k & gug F o ok wE Hi
HETIHATAT h1 QT HAT B
(A) & gfeeshror
AB) e iR
E'El"f'(C)w
&%-(D)wﬁﬁmg@aﬁm
(E) 3rwanfya

40. I #urd frefafaa # & frm 2w %
g qatatoETd & 2

&) i
(B) Wi
(C) Fur
(D) SWied § & 1% T
(E) st

a1, S Y fy A1 RPM 1 g
(A) T e {8y et
(C) 3menfiex (D) Tt
(E) Fyanfad

-10-
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42. Children with deafness and hard of
hearing can be identified with the help of
(A) Optometry

(B) Audiometry

(©)

(D) Both

Stimulator
(A) and (C)
(E) Not attempted

Ayushman Bharat Pradhan Mantri Jan
Arogya Yojana (AB PM-JAY) offers a sum
insured of Rs. lakh per family for

secondary as well as tertiary care.
(A) 1

@5

(E) Not attempted

ofo
R0

Which of the following should be taken
into account for learning to be most
effective ?

A) Language
B) Social behaviour

D) All of the above

(

(B)

(C) Cultural behaviour
(D)

(E) Not attempted

45. The gradual and fairly predictable change

in the species composition of a given area
is called

M Ecological Succession

(B) Ecological Foot Print

(C) Ecological Niche

(D) Ecological Pyramid

(E) Not attempted

SC-TO09

42, wEA 30 FH G AR T B TEEE
fopmefY wETTA A A HHA R 7

(A) AT
(B) femmdl

() fempa
(27 (A) 3T ()
(E) Irvraférd

mmmsﬂmm
(AB PM-JAY) Sfd TRam 2.
Wﬁma@m%maﬁm
&t 2|

(A) 1
EEE ) 5

MRE (g srEnfiE

44. ey F gEd T W Y
Srfriaa o & fR o= § @ S
9Itee ?

43.

45.

-11-
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46. On 1 November 1966, Haryana State
was formed on the recommendation of
this parliamentary committee
(A) Faizal Ali
(B) P.S. Kairan
(C) Sachhar
(D) Sardar Hukam Singh

(E) Not attempted

47. According to which among the following
Acts, a valid driving licence is necessary to
drive any motor vehicle on public roads ?
(A) Motor Vehicle Act, 1998
(B) Motor Car Act, 1988
(C) Motor Vehicle Act, 1988
(D) Motor Bike Act, 1998
(E) Not attempted

48. Haryana Uday is a system in
Haryana.
(A) Solar power
(B) Non-conventional energy generation

(C) CNG bus service
(D) Electric vehicle
(E) Not attempted

49. Rapid Metro Rail Gurugram Limited was
opened to public in

(A) 2012
(C) 2014
(E) Not attempted

(B) 2016
(D) 2013

50. located in the northern Bay of
Bengal is the world’s largest single patch
of Mangrove Forests.

(A) Sunderban

(B) Munnar

(C) Gahirmatha

(D) None of the above
(E) Not attempted

B (o) weem g o
TR () st

SC -TO09

46. 39 vadm afufa € e w1 T
1966 ! BRETN T=T 1 TeA R T

(A) ot et
B) 0. Td. A
(C) "=

47. Trfafea § @ f6d Hfufem & A
qﬁaﬁﬁusaﬁmﬁﬁﬁﬁﬁamaﬁaaﬁ

3 foru e AY TC TG SEEE 7
(A) He A Jrfufam, 1998

(B) Hiet R AfufFEm, 1988

(D) e 91 IAfefaH, 1988

(D) Tex sTgeh AfufEH, 1998

(E) ITs=nfed

48. gﬁmvnsaa,gﬁzrwnﬁqas__wreﬁél
(A) ¥R wifed
(B) TR-uHufE Fetl eI
4e) et s@ Ha
(D) ferega A&
(E) 3TSRITHA

a9, e 91 Yo eI fAfide T 1 F
fiu e e T o1 7

(A) 2012 AB) 2016
(C) 2014 (D) 2013
(E) rsia
50. st & I @ # o o
mmwﬁuﬁaaﬁww&a%l
AA) G
(B) FAX
(C) T
(D) T i & g T
(E) FSTéa

-12-



51.

52.

53.

54.

sC - T09

|n the corgplex ion, [Fe(czo ) ]3_ and
+ n

[Co(en)3] the coordination4nSUmb

poth Fe and Co is oL ol

(A) 3 (B) 6

c) 4 (D) 2

(E) Not attempted

51. wireered 3 [Fe(C0 4)3}3‘ <18
[Co(en)3]3+ 3 Fe 3l Co ER:DIE]
TE B

(A) 3 (B) ©

(C) 4 (D) 2

In Griffith experiment, Mice infected with
g strain (virulent) die from |

(A) Dengue ;

(B) pPneumonia infection ?%‘E ((g)) i‘;‘ﬁm W
(C) Malaria infection = (®) AT HHA
(D) Tuberculosis D) SRl

(E) Not attempted (E) s

The angle of dip at a certain place is 30°.
If the horizontal component of the earth’s

magnetic field is H, the intensity of total e £ T
magnetic field is kN & k
B) = .
(A) HW2 @ 5 % (A W2 ®5 B
| 2H C) K3 (D) s L
() W3 0 T © N
(E) Not attempted i (E) SR
The primary and secondary immuneé 54. ;rmfir% i fedroes Sical FRfRaTd TR
responses are carried out with the help of o A W a R TR e W
two special types of lymphocytes present &) TEEdl & T B
in our blood i.€. A) 5 e @ G-

55.

and G-lymphocytes
(B) K-lymphocytes and T-lymphocytes
(C) N-lymphocytes and M-lymphocytes
(B) B-lymphocytes and T-lymphocytes
(E) Not attempted

(A) B-lymphocytes

The irritant red haze in the traffic and
congested places is due 1o oxides of

(A) Carbon (B) Nitrogen
(C) Phosphorous (D) Sulphur
(E) Not attempted

13-
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56. What is stratification ?

57.

.

i ecies
(A) Radial distribution of different SP

occupying same levels '
(B) Vertical distribution of different species
occupying different levels -
_(C) Vertical distribution of same species
occupying different levels
(D) Transverse distribution of different
species occupying different levels

(E) Not attempted

If tube length of astronomical tele_scope
is 105 cm and magnifying power is 20 for
normal setting, calculate the focal length

of objective.

(A) 10cm (B) 25cm

(C) 20cm (D) 100cm &
(E) Not attempted ¥
What is produced by bacterium Bacillus
thuringiensis ?

(A) Gall infection (B) Bt toxin

(€) Amylase (D) None of the above
(E) Not attempted

In lead storage battery is used
as anode.

(A) lead dioxide

(B) lead ot

AC) lead sulphate g{g&‘i

(D) lead oxide B
(E) Not attempted

Decomposition is largely

(A) The nitrogen requiring process
4B) The carbon requiring process

(C) The Sulphur requiring process

(D) An oxygen requiring process
(E) Not attempteq

56.

57.

58.

59.

60.

SC - Tog

Tafiet #9187

(A) T TR e Al Rl s
&1 fr=efia faam

(B) farfirr wrdt wt @ At Farfv=r sromfen
%1 daad faaw

(C) Tafir= Tl W Tga areft U # Ftf
&1 dsad faa .

(D) farfer =l @ T aeft farfir st

%1 oy foaor  CIECE
(E) Iramtea WE]
af e g i A N @S 105 cm
3t s wifed 20 amT=T fom=mE < form
2, A sAfFea hl Bihd AT @
(A) 10cm (B) 25cm
(C) 20cm (D) 100 cm
(E) 3TvEfara
Sfamy dfyerg yRisof~a g« 3cfed
R ST @ 2
(A) foe wspmor  (B) <t <ifaee
(ORESE (D) 3o & & g T
(E) A9aTiaa
TWREIAT & gm F wy
T 2T fema S R
(A) OIS STRIATFETES
(B) &g
(C) &S Tethe
(D) W 3fieTEe
(E) 3rsmfaa
mﬁ%ﬁm@\%l
(A) TGN e areft ke

(B) e aTE arelt Wik
(C) qewt =me aredt gfswan
(D) IS wre areht i
(E) Irwafea



_

b

61.

62.

63.

64.

65.

A typical nucleosome contains
(A) 200 bp of DNA helix

(B) 2700 bp of DNA helix

(C) 20 bp of DNA helix

(D) 10 bp of DNA helix

(E) Not attempted

Motion of a moving electron is not

affected by

(A) An electric field applied in the
direction of motion

(B) Magnetic field applied perpendicular to
the direction of motion

(C) An electric field applied perpendicular
to the direction of motion

(D) Magnetic field applied in the direction
of motion

(E) Not attempted

The ovule is a small structure attached to
the placenta by means of a stalk called

4A) Chalaza (B) Micropyle _
(C) Funicle ©) Hilum  EIEE
u""r\E]

(E) Not attempted

Which of the following is the first genetic
material ?

(A) DNA

(B) Both DNA and RNA

(C) Histones

(D) RNA

(E) Not attempted

Common name of CSHSOCH3 is
(A) Acetone (B) Anisole
(C) Acetophenon€ (D) Ether
(E) Not attempted

63.
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62. Q%T@ﬂﬂmﬁaﬁ"ﬁ

64.

65.

sC - T09

61. @ﬁﬁm:ﬁaﬂ‘@“ﬁ/@ﬁ‘

(A) e e 6 200 bp

AB) S fer@ % 2700 bP
Eljgluil (C) e ¥ % 20 bp
B E (D) S 2fered % 10bP

(E)
U

g 8 g ® |
(A)ﬂﬁflﬁ?“ﬁw@wm
®) oy B R 5 T SR

&
(C)Hﬁﬁﬁm%éﬁaﬁaﬁﬂﬁ@ﬁiﬁ

el
(D)ﬂ%ﬁﬁwﬁwwéﬁwﬂ
(E) T

m@@ﬁmésﬁmﬁ
@éﬁ%mﬁsﬁtgﬁ?ﬁ%

(A) T (B) TS g

(C) T=IHT (D) =¥t

(E) ITSRtEd
Srofufad o & PH-T1 TUH SEREH
T B 7

(A) ST

(B) S 3 TR i

() fe=m

(D) AR

(E) 3Tvtéa
CSHSOCHSWWW%

(A) TEHRH (B) e

(C) SR (D) ¥

(E) IS
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66. Overall ability of the

67.

69.

70.

the

st to fight
ho ferred by

. isms, con
disease causing organis™

the immune system is called |

(A) Immunity (B) Excre.tlorl
(C) Transpiration (D) Respiration
(E) Not attempted

Lenz's law is consequence of the law of
conservation of

(A) charge (B) energy

(C) mass (D) momentum

(E) Not attempted

The energy of a charged capacitor is
given by the expression (q = charge on
the conductor and C is its capacity)

q? a_

(C) 29C
(E) Not attempted

Parturition is induced by a complex
(A) ATP (Adenosine triphosphate)
AB) Neuroendocrine mechanism
(C) Neuroexocrine mechanism
(D) None of the above

(E) Not attempted

The separated bands of DNA are cut out
from the agarose gel and extracted from
the gel piece. This step is known as

(A) Recombination (B) Elution BLtd
(C) Ligation ([))” Lysis O
(E) Not attempted

[ %]

o~

66.

67.

68.

EE

69.

70.

ﬁmmmmﬂ'ﬁrﬁiﬁﬁﬁ
et AT S a A
Hgard! @ |

(A) S (B) IeaoH

() arsieas (D) ¥HEI

(E) FATHa
éaa:rﬁm/%ﬁﬁtm%ﬁmm
gfom 2 |

(A) I (B) ¥

(C) T (D) EaT

(E) IrSafed

s AR G i I Y

2 a

(A) = B) 52
q2

(C) 29C (D) =
(E) AF=ATTéa
THE Tk dpel g1 Ui Bl &, S R
(A) Tt (TERIRA grshiEhe)
(B) =UTEIhTST JorTert
(C) FNTHIIHTE Tt
(D) Iwg | & Ig
(E) 3vfaa
ST & IHeMT- e THel H A
S A e F T R 3R e g ¢
frebrer foran wman 2, @ oww oW
F&d 8 |
(A) TTAISH (B) &TeH
(C) "yrg (D)éﬁﬂ?
(E) Irwanfaa



(A) 89.1°C (362.1 K)
(B) 98.9°C (362.9 K)
(C) 99.6°C (372.6 K)
(D) 99.9°C (372.9 K)
(E) Not attempted

The gene pool (total genes and their alleles
!n a population) remains a constant. This
is called

(A) Genetic variation

(B) Genetic migration

(C) Genetic drift

(D) Genetic equilibrium )

(E) Not attempted

The object 2.5 cm high is placed at a
distance of 10 cm from a concave mirror
of radius of curvature 30 cm. The size of
the image is

(A) 9.2cm (BY 7.5 cm
(C) 5.6 cm (D) 10.5cm B
(E) Not attempted 531[55

Which of the following consumption has
been claimed to increase the performance
of athletes and race horses ?

(A) Pedicel (B) Corolla
(C) Calyx (D) Pollen
(E) Not attempted

The observed order of carbocation
stability is

(A) CH3 > CHSCHQ (CH3)2(+)H > (c+13)3
B) (CHs)s C< (CH3)3 CH <CH3 < CHj CH2
< (CHs)3 C < (CH3)2 C GH < CHg CH2
< (CHa) CH < (CHa)s c

17-

f .

My F

(A) 89. 1°C (362 1K)

EEE (B) 98.9°C (362.9 K) fonp
B () 99.6°C (3726 K) Ao
(D) 99.9°C (3729 K)
(E)
72. Gﬁ?{ﬂ(mﬁﬁﬁﬁqaﬂiﬁ
W)@HW% g W
21 B ,) c//\]
(A) mﬁmﬁqﬂm | % /)\O
(B)WW 3\ o .
() I ST )L ﬁ/\
) s AL
(E) AwaTd < AR
73. 2.5cm%a1§a1€ﬁqaaa@aﬁaaﬁnﬁw
30cmaa@maa&mﬁ10cmaﬁtq
o T ST & | e e AR R
(A) 9.2cm (B) 7.5cm ¢ -
(C) 5.6 cm (D) 10.5cm  ®
BEELRUES Q
74, Crefafiga @ Reas ITEI H T
@E%E\ﬁﬁmﬁwa@mwﬁ
T 2 7
(A) So@ (W) (B) @ I
(C) 4 (D) T
(E) 3rornf¥d

75. FEEye (R % wdafed w8

(A) CHy> CH3 CHy > (CH3)2 CH> (CH3)3C
(B) (CH3)3C < (CHS)SCH <CH, < CHg CHy
(C) CH3 < (CH3)3 & < (CHg), CH< CHg
(D) CH3 < CHg CH2 < (CHa)z CH< (CH3)3

(E) JTSATTHA

CH
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G/ 1800111

B

ivity O
76. Gross primary productivity

78.

79.

fan

ecosystem is the '
(A) Rate of production of organic matter
during photosynth
Rate of production of organi

transplratlon
n of organic matter

esis
c matter

(B)
during
Rate of productio
during respiration
(D) None of the above

(E) Not attempted

(©)

Colours of thin films result from
(A) Dispersion of light

(B) Scattering of light

(C) Absorption of light

(D) Interference of light

(E) Not attempted

Which intestinal parasite causes
ascariasis ?

(A) HIV

(C) Plasmodium
(E) Not attempted

(B) Ascaris
(D) Salmonella

The production of dihydrogen can be
increased by reacting carbon monoxide of
syngas mixtures with steam in the presence
of catalyst.

(B) Lead arsenite

(D) Iron chromate

(A) Iron
(C) Lead
(E) Not attempted

Which of the following has greatest
biodiversity on earth ?

(A) Himalayan forest
(B) Western Ghat forest
(C) Andaman-Nicobar forest

(D) The largely tropical Amazonian raijn
forest

ohd

alN|

78.

(E) Not attempteq

76. feh urfifearfeehl @ & TRl MUl

JaTraehdr Al B
(A) mw*miﬁféﬁ%m§

(B) ATSqIedS * AH HEH TEY 3

77. Al =Teh %

79.

SC -To‘

I &

Idqred i &

El*:[:l (©) gm%sammmma;m
¥ (0) swdwm i & g T

(E) rwafaa

=1 afong 2
(A) TR T JHTOT

(B) WehTST T Fehiole

(C) JHTIN T ST

(D) UhTST T I

(E) 3rsfea

Frafafaa § @ S9-3 3 i
TEHRT ¥ %R § 2

(A) TS (B) TRl
(C) WSHITETH (D) HieHMen
(E) v

TRERSISA o I = 6
Iufefa @ & a1 e fason 5
HeA Aiaase o AR g Sgm S

Hehal 8 |
(B) TS JTEATEE

(A) TR
(C) drm (D) FH B

(E) AR

80. TR 3 & vt o Jafat

forah 8 7

(A) Temem & s

(B) ufadt ure & &

( ) sreuH-fApEr % F
D) &R ¥ W IwrHREHE e 3
alsﬁa:r

e\ AT
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81.

82.

85.

TE = 100 sin
I = 100sin(1o
instantaneou
Current, then
and current gre re
(A) 70.7V and 70.7 ma
(B) 141.4v gng 141 .4A
(€) 141.4V and 141.4ma
(D) 70.7V ang 70.7A

(E) Not attempted

(100t) Volt and
Ot + %)mA are the

Which hormone IS secrete
in later phase of Pregnanc
(A) Thyroxin
(C) Prolactin
(E) Not attempted

d by the ovary
y ?

(B) Relaxin

(D) Adrenaline =t g%

i

At constant temperature, the pressure
of a fixed amount of gas varies inversely
with its volume. This is known as

(A) Charle’s law

(B) Avogadro law

(C) Gay Lussac’s law

(D) Boyle’s law

(E) Not attempted

Which theory attempts to explain to us
the origin of universe ?

(A) Speciation theory
(B) Natural selection
(C) Big Bang theory
(D) Mass theory

(E) Not attempted

Which of the following radiations has the
least wavelength ?

(A) y-rays
(C) a-rays
(E) Not attempted

(B) X-rays
(D) B-rays

-19-

81.

82.

83.

84.

[

SC -To9

If& E = 100 sin (100t) Volt 3R

| = 100sin(100t +/)mA dreest 3t forem
% ATRITAR O &, A Aoy T forega %
rms T SHHST: B

(A) 70.7V 3 70.7 mA

(B) 141.4V 30 141.4A

(©) 141.4V 30 141.4mA

(D) 70.7V 3 70.7A

(E) Aw=rfia

T & Wadl (1)) = ¥ FEny
S HH-T1 FEH arfea fwn smar @ 7
(A) TSt (B) Twifeas

(©) Teifaz (D) ufgfem

(E) Awafaa

Frra aomm W, g 6w it e
1 T« 39 I & TA SFrhaTaTa
w d feffa g g | =@ FEI R
(A) =ed =1 Frem

(B) TGl w1 fram

(C) 3 gEh =l frem

(D) st=a =1 fem

(E) 3ot

SH-1 fogia B e 6 saf awemy
1 I HAT & 7
(A) TaRrear fagm
(B) Wrhfdeh ===
(C)ﬁnén%rq'ra
(D) seamH fagma
i)

85. Trafafea # @ form fafemo & aome=dan
TEd % Bt ? _
(B) X-fewl

(A) y-ﬁﬂﬁ N
(C) o-Frwl (D) p-foreet
(E) Irvantad
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86.

87.

88.

89.

90.

91.

Fehling solution Ais
(A) Aqueous copper sulphate
(B) Alkaline potassium chloride

)
(C) Ammoniacal silver nitrate
(D) Rochelle salt
(E) Not attempted

Restriction enzyme belongs to a larger
class of enzymes called

(A) Lactases

(B) Amylases

(C) Nucleases

(D) None of the above

(E) Not attempted

Discontinuously synthesised fragments
are later joined by the enzyme

(A) Amylase (B) DNA ligase
(C) Isomerase (D) Lipase

(E) Not attempted

=P 3

is called washing soda.
(A) Na2C03-10H20

(B) Na2C03-H20

(C) Na2C03-4H20

(D) Na2C03-5H20

(E) Not attempted

oR(O|

The Microsporangia develop further and
becomes

(A) Tapatum
(C) Pollen sac
(E) Not attempted

(B) Endodermis
(D) Receptacle

Amino acids are joined by which bond ?
(A) Hydrogen bond (B) Covalent bond
(C) Peptide bond
(E) Not attempted

(D) None of the above
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SC - T°§
ge, dpafem fae AR
(A) FAT HIA aothe
() eI AT TS
sifroeRet freat A15ge
(D) A T
(E) i
g7, SR GogH, GaEH 1 T w8 At
sl fd__ FEIE
(A) AR
(B) THTEAS
(C) =AfeFITH
(D) I # & Hig Tl
(E) JTwRHd
88, JUAd EY Y EVNA ghS A H
TSTEH g WIS 1 2 |
(A) THTSS (B) SITAT w3
(C) STTEEHS RSIELE
(E) 3ToTia
| 89. I g9 TST $Ed § |
o AA) Na,CO_-10H,0
(B) Na,CO_H,0
(C) Na,CO,_4H,0
(D) Na,CO,5H,0
(E) T5=mtad
90. ISV AW faefa St & s =
ST @
Eigk () e 4By tSrehify
r.:.:.r:"
WRE (C) W dedt (D) SR
(E) 3rnfea
91. W 3 ford sy & g ed € 7
(A) BTSN S (B) wEEAST &Y
(C) Iz dY (D) Sk HAPEH
(E) TRt
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longer, its resi

(A) increase by 0.05 %
Y 0.05 %

wire is stretched to make it 0.1%
stance will

(B) decrease b
(C) decreaseé by 0.2 %
(D) increase by 0.2 %
(E) Not attempted

93. Sperm formation continues even in old
men, but formation of ovum ceases in

women around the agé of

(A) Fifty years (B) Seventy years
(C) Sixty years (D) Forty years
(E) Not attempted

94. The mass of an electron is
(A) 9.1094 x 10" kg
B) 9.1094 x 107% kg

kg
B

ofio

95. After which stage, cell walls are laid down
leading to the organisation of the typical

female gametophyte or embryo sac ?
(A) 4 nucleate stage

(B) 8 nucleate stage

(C) 5 nucleate stage

(D) 64 nucleate stage

(E) Not attempted

96. In Rutherford scattering experiment, what
will be the correct angle for a. scattering for
an impact parameterb =07
(A) 90° (B) 180°
(C) 0° (D) 270°

93.

(E) Not attempted
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95.
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ks

97.

98.

99.

100.

@'/'\/% \f"a@“o‘%*gg.h
N D \/—/@ SC - T%
By a cell a current of 0.9 A flows through 97. UH U g1 0.9 Aﬁ'@,ﬂ/ 2 O g
2 Q resistor and 0.3 A through 7 € resistor. o3AfaE7Q® S & 9&d R | B
The internal resistance of the cell i 1 aTafs gfey R
(A) 0.5Q B) 2Q (A) 05Q (B) 2Q
C) 12Q (D) 1Q (C) 12Q (D) 1Q
(E) Not attempted (E) AR
The menstrual flow results due to 98. TMIYE 3 gEeh! oA AMEHIAT
breakdown of endometrial lining of the Temfae eefim % e % HRO A
uterus and its blood vessels which forms D o0 T T8 gl % I T T a A
liquid that comes out through N U T aTe e R )
(A) Vagina [ Eﬁﬁﬂ ti’:“‘\[:l(/s‘) Rt
(B) Prostate gland 3 (B) W& Ut
(C) Urethra (C) TETITﬁ
(D) Penis (D) fem
(E) Not attempted BREERIEE
Which of the following binds to promoter 99, Tr=fufiga # @ F9-=1 THRE F =R
and initiates transcription (initiation) ? 3N TERFSE (THH) Sl A L 2 2
{A) RNA polymerase (A) T (AT
(B) Renin (B) =
(C) Restriction endonuclease (C) ufdqEy @q%{qg
(D) Ligase (D) SIS
(E) Not attempted (E) TwTRad
_____is aradioactive isotope with 100. ___ 5770 9ui &Y 37Uy & U TH
half-life 5770 years. Weanadt gwefaes R )
A) ¥ci A) el
B) 146 ®) '*C
() 3l ) *a
(D) None of these (D) T ¥ 1 T
(E) Not attempted (E) IS
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